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MATHCEMATICS By Pradeep Sir

Q. 1) Vertex angles of two isoscles triangles
are equal. If ratio of their height is 3: 4, find

the ratio of their perimeter-

& gafgarg Ayst & N sto wu= §1 R
3! ATl BT AU 3 : 4 8 d 37 gAYl
ST UTd ST -

(A) 6:8

(B) 4:3

(C) 9: 16

(D) 3:4




MATHCEMATICS By Pradeep Sir

Q.2)Ifa-b=58&a’ +b? + b? = 45, then value
of ab is?

gf¢ a- b = 53X a? + b? = 45 §, @ ab HTHH
T8I 2

(A) 20

(B) 10

(C) 25

(D) 15
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Q. 3) If J(A—p?H)(1-q?) =, then what is the

value of ./2p?+ 2q% + 2pq + /2p% + 2q% — 2pq .

Uﬁ\/(l —p3)(1—q?) =-”-2§'?-,?ﬁ\/2p2 + 2q% + 2pq +

J2p? +2q% — 2pq FTAF 1§ ?
(A) 2

(B) V2

(€)1

(D) None of these
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Q. 4) A man completes a certain journey by
car. If he travels 30% of dis- tance and 60% of
distance at 20 km/hr and 40 km/hr
respectively and remaining distance at 10
km/hr, find average speed to cover total
distance?

TS 3GHl R §RT UF Afdd g & 9wd
Hdl g1 afe a8 I BT 30% TUT 60% HH: 20
freit/erer quT 40 ThHl/Her &t ara A 99 a1 8
aYT A9 g3t 10 fFft/Eer #t a1 | 99 FaT B,
?ﬂg AT B 99 B4 | ITP! 9d 91 J1d

?
(A) 25 km/hr (B) 28 km/hr
(C) 30 km/hr (D) 33 km/hr
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Q. 5) A boat takes half time in moving a
certain distance downstream than upstream.
The ratio of the speed of the boat in still water
and that of the stream is-

TS AP B TS g3l dF URT & Ufapd 91 3t
qa-T ¥ URT & AGPpd - H MTUT IHT al
g1 RR @ & o1 3t iR 39 URT Bt A BT

ST T R 2
(A) 1:2 HER
(C) 2:1 (D) 4:3
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Q. 6) If certain sum becomes 1.44 times of

itself in 2 years at compound interest rate per

annum, then rate percent per annum? afe as’rs‘

¢RI I SMTYR WX Thgie saTel U 2 qul
# AT 1.44 T B WG 8, O 39 S P
aiffe o fFa-it 8 2

(A) 25%

(B) 22%

(C) 21%

(D) 20%
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Q. 7) A man bought a car and paid ¥ 12000 as

down payment. He told the seller that he
would pay ¥ 13050 after 1 year and ¥ 22680

after two years at 12%% compound interest per
annum. What is the value of car 2 on cash

payment?

TS Afdd A T 12000 & R YTAH WR TH FR

Eﬁaﬁaﬁ?a’sﬁwﬂqaﬁ 122% e Tl
gﬁwaﬁmnsoso\ﬁw’faﬁm

? 22680 WA BT a1g1 HIT 81 | PR B

TP¢ Yed JTd BN ?

(A) 51000

(B) 42575

(C) 41520

(D) 45345
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Q. 8) A sum becomes ¥ 1352 in 2 years at 4%

compound interest rate. Find the sum?

TS YRR 4% qTYS Tshgies &S DI G UR, 2
gul # 2 1352 81 STl 81 Y=RIR 3 i 2
(A) ¥ 1250

(B) ¥ 1200

(C) ¥ 1300

(D) ¥ 1260
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0. 9) The centre of circle is 0. AC and BD are chords
of circle which intersect at P. If ZA0OB = 15° and
LAPB = 30° then tan? .+ APB+ cot?.COD is-

U g BT &% 0 81 AC Ud BD 9d P! SilaId g &l P
WY $Ical 21 afe LA0B = 15° 3R APB = 30° dl
tan? 2APB + Cot? 2COD &T H &-

(A) 5 (B) -

4 10
(©) 3 (D) +
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Q. 10) Three persons start walking from A to
B. The ratio of their speed is 4 :3: 5. find the
ratio of their time to reach at the point B?

a9 aafed WM A & ®IF B & foe Ugd 9ad g1
S®! U1 4: 3:5 F AUId H 81 9P GRIB W
Uga+ ¥ e 9 aret 99y &7 3uTd gHT1-

(A) 10:15:13

(B) 2:3:4

(C) 15:20:12

(D) 16:18:15
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Degree of Cost incurred in different
Expenditure (Total 4,50,000)

- @d H antg &t W @l 2
4,50,000)
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Q. 11) In the given pie-chart, what is the total
expenditure (in percent) on labour charges?
fu 7T urg =1 (pie-chart) H, 47 Yed W T
arg (wfa=ra #) fea- 8 2

(A) 25%
(B) 20%
(C) 18%
(D) 30%
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Q. 12) In the given pie-chart, what is the ratio
of the total expenditure on steel, cement and
bricks to the total expenditure on labour and
miscel laneous expenses?

f%qrrqméaré( ie-chart)ﬁ'&ﬁﬁ,méﬁ’?
#ﬁwww%mﬁmaﬁ?ﬁﬁﬂ@ﬁ
R $d A9 BT UTd T 82

(A) 3:7 (B) 3:5

(C) 4:5 (D) 9:11
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Q. 13) A trader sells his goods to a customer at
a profit of x% calculate on SP besides it he
cheat by 10% while he buying and gives
825gm instead of 975gm his overall profit is
62.5%. Find the value of x?

P L U HTHH B ATeP DI x% ATH
W ot & faspra 4o W TuET HRar B
HTHTEH UG 98 10% DI AN ST & 9T

a9d UHY 975 TTH B SNTE 825 UTH odl g1 afe
IUPT R I H @Y 62.5% 8, d x T A
garsa|

(A) 25

(B) 20

(C) 15

(D) None
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R+ Re- ks Q. 14) When a number is divided by a certain
29 + 33 - 19 divisor remainder is 39, if another no. is
.19 o E] divided same divisor remainder is 33. If the
| sum of both numbers is divided by same

R dividor leaves remainder 19. Find diviser?
_g’ L, 29 o fdt H&r &t Yiee § M GTTQ?ﬁBQ

/. IS ﬁ m%mqﬁ g gggﬁ 33 aa?nWﬂ

NQ
3 —— 33 M=2y+z3 uﬁﬁm%u’ma’rs\tﬁmﬁmm
o N WY 1 19 YRTHd Yedl &, al HTST® JTd B 2
Ni + Na= ?D*?C+3°u+m3+3z__ (A)19 ~  (B) 51
- -1(C) 47 [(D)53
<
39+33 - Ig
&:l? =233
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Q. 15) In an election two candidate

= [0 7 participated, 10% voters did not vote, 2500
/\ votes declared invalid and the winner gets
| L 55% of the valid votes and win by 2000 votes.
/ L. Find the number of voters in the voting list.

1o f U® 9419 | af IEigR A1 10% Aderarsi |
HagH 8] [baTl 2500 Td Y (3HT=T) Oiva
Validnote = 000 fd ma 3 fastar IwiigR du #al & 55% 3R

AP = 95,00 2000 Al H St BTG 851 df Adegrar gl o
Ty 2k A AAGIdT3{l B TBAT JTd DY 2
2% 22500 (A) 22700
~ (B) 28500

- (C) 22500
) 250003
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Q. 16) The angle of elevation of a flying drone
from a point on the ground is 60°. After flying
for 5 seconds the angle of elevation drops to
30°. If the drone is flying horizontally at a

constant height of 1000vV3 m, the distance
travelled by the drone is:

WU W 'S 9 ' IsH &1 IAGA
PIU 60° 21 5 Tbe I8 U4 & 9I¢ IATH
&1 30 330 9@ &w g wrar 21 afe g9 afaw
¥7 ¥ 10003 HY. Ft ARGy $IE WIS W&,

@)ﬁ%ﬁﬂﬁmaﬁﬁ T BT :
2000 m
(B) 1000

(C) 3000 m/H.

(D) 4000 m/H.
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(). 17) P and Q earn in the ratio 2: 1. They spend in the

ratio 3’4;—;:1 and save in the ration 4:1.

. Find the
monthly income of each if the total monthly saving of

both P and Q together is ¥5000?

D__\ 7 000 pﬁzqzq%mﬁmﬁ%ﬁ@:lﬁaﬁmﬁ%

dYT 4: 1 ¥ 99d $d g1 Tl P 3R @ 1 & 994 ¥ 5000 B
Tmme = EXP’rSw"a TS B! 1S AT T ERN 2
" Exp = - Sow [ (A) 14000,7000 (B) 1000,5000

N (C) 2000,1000 (D) 8000,4000
\SW‘I'Vv - 1-:"1 ,exf’
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N tw wmivgs = NX oldlwa + A'vd ch » I"MQ' 18) A batsman has scored an average of 46 runs
for a certain number of innings played in England.

Ux 55 2 Ux e + 9% Jotet When he came back to India, he played another
| two test matches of two innings each and scored at

R = )1 8Y 4 axotal an aver- age of 55 runs For the innings in England
and in India taken together, he has improved his

pe v by 2 ru ver th tch layed i
*%—G ) E\i e :nZ::g:. #\e num'::;eraofe ;nni:g:‘ :Iacyee: il‘: g;lan:
=28 \ ;;fsaﬁamam I8 | Wdt T o9 Afda arfval
= 1 3NN 46 ¥ § 9d 9§ YRd AU ATl ¢ of I8
5 TP gl URI & gl e AT Werdl 8 MR 3fd 55 37
ya eSS 4 2 R o 3

2 ¥

dl I9P I | 3 T wifval @t Sen

C (A)14 >  (B)16

(C) 18 (D) 19
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[l‘fo‘/";-‘) Yo
~4 [~1o7
A B C
) ?'1'/‘ = # Z) ng‘*
G 3

Q. 19) It is compulsory to get 40% marks to pass. If
A gets 10% less marks with compare to pass marks.

B get 11%% less than A and C gets 41%% less

marks than the total marks of A & B. Then find the

% marks of C?
feft gdienm &1 Il F1 F e 409 3@ sifHard
21 afg A Il 3wt | 10% FH UId HIAT 8 U B, A

| 11;% 3P HH U ST ¢ MR CATB S Pa

ai'aﬁﬂu%% 3P PH U HIAT 21 C P % 3P JTd
Do |

(A) 42%
(B) 53%

AC) 40% >

(D) 35%
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éﬁ e &L@ Q. 20) The ratio of length of each equal side

% and the third side of an isosceles triangle is 3:

=
. 4. If the area of the triangle is 185 square
2 ¢ 2 x U2 units, the third side is.
A s/ ufd v wniiarg Aye § wde wuE e
e ETE YT AR YO BT U 3 : 4 § IR

| @\?/'9 ﬁwmﬁama@[gm&m
A = Q-‘-ﬁ:ﬁj%c = —‘-g—\% mﬁl
@ (A) 16 units (B) 510 units

: i 19 e
(C) 8V2 units @




MATHCMATICS By Pradeep Sir

4g g Q. 22) 960 is received as an interest in 5 years

at 3600, while some part of it is given on 4%
rate and remaining part is given at 6% rate.
Find both part ratio.

¥3600; 5 AT & ford =uTer WR fad &t 2960 =T
firelt | T8 HRT 4% X W faar qur Ay M1 6%
gv W g at fibx f5¥ srqura # suT IUR feu

(A) 2:1
GEREE
C) 1:2
(D) 5:4
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Q. 23) - A, B and C are partners A receives 2/7
A 8 (% of the profit and B and C share the remaining
profit equally. A's income is increases by 240
when the profit rises from 10% to 15% find

U < & . the capitals invested by B and C each.
x qaiamnffA Bamceﬂqm?.l;:rmu

\ @1 2/7 ai UTT A &I U dY1 B 3R

1 gl WA UFT | U $3d 8| o a1H | 10%

s e T @ﬁw%mﬁmﬁ%a}Aaﬁmﬁnm

st | SET-3T B 31X C GRT BT TS
ﬁ'&muﬁrmaﬂ’n
= 1a00 (A
- 86000
(C) 5400

(D) 6400
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Q. 24) Pipe A can fill a tank of capacity 350
litres in 3% minutes. Pipe B can fill a tank of

capacity 780 litres in 8§ minutes. How long (in

min) will it take to fill a tank of capacity 1615
litres, if both pipes are opened together"

918y A, 350 aﬂzzzﬁtummmwhas’ts oEAR:]
mmtlms 780 drex 1 uRET T TF ¥

8= ﬁm*mmhuﬁ:a‘mmm’rwmm
ﬁ'msnr-nt 161 M A UNATIF EF F A A

Faar g7g (Aa &) e ?

(A)o9
(B) 71

(D) &
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—_—t — AR - =
& < \ 3—(7\3/
'R
Yu+3a _ B3
12 '
33 1
- N \\

Q. 25) A person bought some article at the
rate of 3 for 11 and double the no. of articles
the rate of 8 for 13. He sold all the articles at

36 for 83. Find profit/Loss % ?
AR AN AI D R®

ATz 137 8 Pl WA ITA
3 &I ¥ 83 H
ufa=rd 31d S|

394 9t
fear @/

(A) 33:% profit
(B) 50% profit

o profit, no loss

q T LCRILA
T8 s
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Q. 27) A sum is lent on certain simple interest
rate for 3 years. If it is lent at rate of 2.5% per
annum more than previous rate, then interest
received would be ¥ 540 more find the sum
lent?

ARTIRT JTYRUT TS B fHAT X ur 3 a9
& SYR & Wt afe 3 2.5% arfde &t
3fee ¥ U= IYR f3ar mar gian, &t 2 540 3ifs
TS YT BiaT| SYR ot T i <4i-
(A) ¥ 6400
(B) ¥ 6472

(C)6
Oy 7200,
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Q. 28) In how many years will the simple

interest on a sum of money be equal to the

principle at rate of 12 %% p.a.?

TS YRR T HTUROT 4T, 12 - % A aT 1 Rt

asT H AU & ara) g AT ?

(A) 7 years/ a¥

(B) 5 years / a¥
——

(D) 6 years/ a¥
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Q. 29) A contractor undertakes to do a piece of
work in 40 days. He engages 100 men at the
beginning and 100 more after 35 days and
completes the work in stipulated time. If he
had not engaged the additional men. Then

35D
| b after how many days from scheduled time the

'OOI: [4‘300

572

work would be finished?

UP 3PeR A &bt a1t &t 40 9 # w1 FA
&1 3PT o1, 3T IR 7 100 AfR o1 FX
R a1 35 {3 91g 100 AfF R TSR Fd
®1 9Hg WX qui & fear, afe ag sifafvea aafd
T8f 9T df o 3P 9Hg | fgrag #

HG1E;
(A) 4 days/ f&=1 BE gay_s/,@
(C) 8 days/ fea (D) 7 days/
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&\7‘ . J‘é Q 30) Th 2sin 30° 1+cos 30° .
> = _’ L < - e vatue of 1+cos 30° sin 30° o equal to:
WEE) il N 25in30°  1+4cos 30° ;
ES @ 1+cos 30° sin 30° HT AT AT F|
2 . (A) 4
+13
K+ (B) 8
3 (/]‘ “—b) (C\ ~!>) - az I:-
C)4—
R(*T3) Lar R ‘© i
ER)(3-R) (D)6 -3
493+ a3 =
— (&3




